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All questions carry equal marks

With a block diagram of the programmer’s model of 8086 /8088. bring out
the salient features of 8086/8088. {10 Marks)

What is segmented memory addressing? thy do you think 8086/8088
uses segmented memory addressing? Explain how segmenlation helps in
relocation. , {2+2+6 Marks)

Explain the following addressing modes of 8086/8088

i) Direct

i) Base-relative-plus-index

iti) Register relative

iv) Inunediate addressing | {4 X 3 = 12 Marks)

Explain how the stack is use tor the subroutine call/return mechanism.
{8 Marks)

Explain the "MOVS" instruction. {10 Marks)

Implement the "MOVS® instruction through a set of other (non-move siring)
instructions. (10 Marks)}

“File l.asi" contains a program segment which calls a subroutine {pro-
cedure)/in “file2.asm” Give the necessary declarations in Filel.asm and
“File2/asnt’ (to make the subroutine of file2.asm available to filel.asm
which is not locally available} and the assembling and linking to obtain

thé executable file.
(12 Marks)

Explain the function of "local label” in macro definitions. (8 Marks)

Identify the function/s of the following pins of 8088 processor

) ALE i)INTA iii) IO/ M WIREADY IRESET vi) NMI (6x2=12 Masks)

with a diagram show how the multiplexed (Address/ data) bus of 8088 is
demultiplexed using transparent latches. (8 Marks)

For 8088 (in minimum mode}. explain with a diagram. the connections
required to interface 8 chips (RAM) of 4K X 8. io have the starting address
located at 00000H. The memory chips have rd.wr. ¢s. addres and data
buses. Use suitable decoder for addressing decoding (20 Marks)
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7.

8.

located at 035
Data Lines 8
rd, wr, és ' 3
3 sets of (CLK, gate, out pins) 3X3=9
Al, A0 2
ra, GND 2

Total 24

(b) Explain briefly the interrupt structure of 808878086

Write short notes on
i} Memory mapped 1/0 Vs 1/0 Mapped 1/0
i} Jump group of instructions
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‘(@) The 8254 timer/countér is a'24 pin chip with the following pins. Show

{10 Marks)

(10 Marks)

(2 X 10 = 20 Marks)
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1. Give a brief explanation f'or the different categories of registérs present in
8086/8088. Tllustrate through an example any special functions Gf any)
performed by any registers. (10+10=20 Marks) |

2. (a) Explain the d1fferent forms of intra segment (uncond1t1onal) jump instruction.
(10 Marks)

(b) For each form of intrasegment jump, give 'an assembly language program
fragment illustrating the usage. ‘ (10 Marks)

8. (a) For the following instruction (INX[6X]) does the assembler have enough
information to produce the cotrect code? If not what is to be done to prov1de
the needed information. :

.data
xyz dw 1234H
.code
mov bx, offset xyz
inn fbx]
(10 Marks)

(b) Give a table mdzcatmg the different ways (24 in all) of addressing memory in
8086/8088. . (10 Marks)

. {a) Write an assembly language program tc% check for the presence of a key in a
table of entries. If the key is found, place AA in a known memory location.

Indicate absence of the key similarly by! placing BB in the same location.
I (10 Marks)

(b)"What is a stack? What are the uses [ the stack in 8086/8088. Explain the
stack related instructions of 8086/8088. (10 Marks)

5. (a) What are pseudo-operation codes?. Why are they called so? Explain any three
pseudo-operation codes. (2+12=14 Marks)

(b) Give an example of an assembly language program spread over two files, one

contaning the caller portion and the other file containing the called subroutine.
(6 Marks)
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